Relative Areas of Power Polygons
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Here’s a little construction showing how 3G has the same area as 4H.

(We'll use N as the common denominator.)
3G = 4H
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Here’s a table showing the relative areas:

A B Cc D E F G H I J K L M N o
A A A/d | A/2 A A/2 | A/8 A/8
B | 4B B 2B 4B 2B B/2 B/2
C | 2C | C/2 C 2C C C/4 C/4
D D D/4 | D/2 D D/2 | D/8 D/8
E | 2E E/2 E 2E E E/4 E/4
F | 8F 2F 4F 8F 4F F F
G G 3G/4 G/2 G/2 3G/8 G/4 G/4 G/8
H 4H/3 H 2H/3 2H/3 H/2 H/3 H/3 2N
I 21 31/2 I I 41/3 1/2 1/2 /4
J 2] 31/2 J ] 33/4 J/2 1/2 J/4
K 8K/3 2K 4K/3 4K/3 K 2K/3 2K/3 K/3
L 4L 3L 2L 2L 3L/2 L L L/2
M 4M 3M 2M 2M 3M/2 M M M/2
N 8N 6N 4N 4N 3N 2N 2N N
O | 80 20 40 80 40 0} @)




